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6.1 IEZMREL

(Eatilg 1

LEA=ZABNRLLK 3. —KRE
KRV I RXEDFRHANERZS
RIEME.

SLEHEAZAKY ABC 41, Mgk
WY K5 e, VUABA A MEXESR
AR LIRS .

3HATHI&ER
(1)sin30° + ~/ 3 cos30°

V2

5 -sin60° — /3 sin4s* '

2)

(3)2sin*30°%in45° + cos?30°c0s60°

sin60° — cos45°c0s30°

(1~ ———“22 )c0s60°

(4)



6\ wﬁk/]\
(1)sin50° #1 sin70°

4. £ NABC &1, /C = 90°,sinA =
—g—,;}t cosB f{H.

(2)cos21° 1 cos28°

(3)sin48° #{l cos65°
5. @ 6—1, 7 AABC Hf1,/B =
90°, /C = 30°,BC = 5cm, 3k AC.AB f

K.

2 ) (4)cos46° Fl sin46°

AHe—1

(GRElE 1
L.EMEM=MEN—ABLM N 60,



RHE=AM. : CERNIGZ 22
LLAe=45" =M E . RIETH&
AAEE—RFLT) - ' :
(1)sina + sina = sin(a + a)

(2)cosa + cosa # cos2a
. IHAREEHA=ARN=02Z .

.oa 3 ..
(3)sin 2 St -z—sma

3. A=A l:l:BSlE)‘(ﬁEﬂﬁ:’sinza +

cosla = 1

a 1
(4)cos 5 ;r'-'. 2cow



2 BT A& fa kRN TF 45° f 9 =4
tto
(1)sin66° (2)cos54°

: (3) B Ml cos22.5° = 0.9239, K
(3)sin82°38' (4)cos67.12° sin67. 5° fY1{H .

3.(1) E’,%{]cosa=\/—32,ﬂéﬂ= 90°

~ R SRR LRI =
(1)sin42°16’ (2)sin68°39'
(3)cos35°44’ (4)cos16°25

g, T ' 5.(1) B4 sina = 0. 3256, 3K &£ a.

(2) B4 cosa = 0.4155,3K &4 a.

(2) B4 sina = %,a + B = 90°, 3K

cosf F cosa f{H . 6. (1) 248ifH A> 60° if,sinA FYEUE
4 .
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(2) 248t f B> 60° it ,cos B f B
BWEEMtA?

(3) M4&i4F 30° < B < 45° fit,cosB
R EBEEE A

(Eailg 2
1.4k & sin*a 4 sin’acos?a + cos’a _

2. R {H ~1— 2sin32°c0s32° —
|sin32° — cos32°|

3. BRI 32 + dasina + 2(1
—cosa) = 0 FHMHBFM LR, Ha hE
1,5k« A{H.

CEANIZ 30

J88: £27 )

(1) ZIE5% %8 ,sin51°48" = 0. 7859,
W cos 38°12' =  ;EN2 BBIE
{H & 0.0004, M cos38°14' = ;
cosa = 0. 7863,/ a = .

(2) Z£ AABC 1, |2sinA — /3 |
+ cos?’B = 0, ] cosC = F

(3) ZE AABC th, /C = 90°,a = 4,b
= 3, MB/NE AR RZER

(4) B% AABC th, /C = 90°, LA
=30 A LWERL=1, | AB =

yAC=  ,BC=




2R{E  sin’l°  sin®2° 4 sin?3° 4

. 4\B§ﬂ0°<a<90°,ﬁsina=-15—2,}f{
«+s 4 sin%89°

cosa f{H .
S.A) FERINABCH, /B=90°,a= 5.8.42 _|_\/_3' B 2% — Szsina
P = R | +1 =0 f—4Mik B« J8ifh ok cose,
(2) & RIAABC 1, /C = 90°,b o
= 3,A = 21°48' , F| i cos68712' = ]E?%n;“();ﬁ/gj < I5° Bl eos
0. 4000, 3k C. B TR ,8inx + cosx =
2~ 3

g 3K @sinzcosz {1H.



@cos’z + sin’z f{H.

2 BHIHE 32° — 4z + 2m = 0 (4G
WA R — A = fT OB AR B B
i, R m M1

3RFEHEA=ML—EENRRS
FHA TSI IETL(E

6.2 IEFIFRL]

CEHtlg: 1D

1 B FE

(1) FHERINABC 1, /C = 90°,A.B,
C AxAH A a b, WF 3R F— 58 ALY
I )

(A)a =c + tgB (B)b = ctgB

(Cla = b+ ctgB (D)a = ¢ - tgA

(2) R BRI L KA 2 4L W75
RN R o W RFMER ¢ )

(A)lctga (B)ltga
©) -1 @) -+

sina cosa
2 B,

(1) #E AABC W1, /C = 90°, LA =
30°,BC = 4cm, Jf4 AC =

(2) & AABC &1, /C = 90°, /B =
45°,BC = ~/ 6 ,Jp4 AC = .

(3) £ AABC 1, /C = 90°,BC = 5,
tgB = A/T?'%Z AC=

3 R{H
(1) ~/3tg730° — 1

(2) |ctg30° — tg30°]



/3
2

(3)tg?60° — ~/ 3 ctgd5° + c0s60°

(4)ctg?30° — /3 tg60°ctg60° +
tg?30°

1
tg30°

ctg?45°
cos?30°

()

— sin60° +

.(6) ~/ (ctgb0° — 1)% + |1 — ctg30°|

LHE (actg30°)25(%ctg60°)z‘

5.1EBA ctg10° « ctg20° « ctg30°ctgdQ° »
ctg50° « ctg60° » ctg70°%tg80° = 1

(EAIE 1D
. B O <a<90°, KA +
ctgla)sin’a fY{H.



2.BH0° < a<<45%,4kM8
cos?(60° — a) + cos?(30° + a) +
tg(45° — a)tg(45° + a)

3.5 ARSI ,sin(90°— A) = g,
3K tgA.ctgA fy{H.

(ERLIE 2)
1 R84, E& T ) e
(1) FeaR8ify, Hitge EATEF

Y3 40 MRS 4?

@) % e XM, B ctge AT 1
oo MTERA A2

3) EBif o WR 30° < a< 45,
tga TSR RAAY

2. ERRTIEVERAUIME.
(1)tg55°41’

(2)tg76°58'

(3)ctg11°39’



(4)ctg88°36'

3. BT 5 IE Y s AR I SR A

(DtgA = 2. 3052

“(2)ctgA = 3.1280

4‘8931tga= 3,Sksmoz _ 2(‘.osq%(Eo

2sina + cosa

5. KEA T &ERIBLA @
(1) ~/Jetgla + 20°) = 3

(2)3tg*a — (3 + ~/ 3 )tga + /3
=0

10

(3) ~/ 3 ctgla — 4ctga + A/ 3 =

6. 1k
(1) (tga — ctga)? — (tga + ctga)?

cosa
1 + sina

(2)tga +

(3) Afctg?48° — 2ctg48 +1 —
ctgd8°ctg42°

(RENE 2)
1.7 tge — ctga = 3,3k tg’a + ctg’a



HI{E.

2. WA 6—2, & AABC 1, /C =
90°,a.b.c 53 HIH LA LB, LC W3t

H cosB = ———33,* sinA tgA ctgB H{H.

3. 63, FME=MEMHT M RN
70°, A K Ky Sem, 3K

(1) JE# LAY CRE#3) 0. 1em)

(2) 3R % B = M 78 09w B O 75 2
lem?)  (Fdb tg35° = 0. 7002)

=

P 6—3

6.3 MEMR=MAE

CERNE 10

1.

(1) #£ RINABC 1, LA = go=,mq§
J& LB 1y « )

(A) EE#% (B) %

O EH D&Y

(2) £ RIAABC i, /B = 90°,b =
25,¢ = 7.0 LA KRR £LC HIEY]

{550k ¢ )
T 24 7
(A) 2595 (B) ‘2~5 21
24 25 ot TaLT:
(&) 25 94 (D) 54°75
(3) HHBHBER 2V 2, —AH
150°, Mm@ A )
(A)8 B)ya~/2
(C)4 D)6
2\@%’@ .
(1) 7E ReAABC ., /C = 90°,a =
3em, A = 30°, Wb = § O d
2) £ ReANABC a, /C = 90°,a =
Scm,B = 60°, b= o=

(3) 7e RIAABC th, /C = 00°5¢ = 2

e ~ 3
6 7SlnA S ’"‘3_" m‘l Q= = vi) =

(4) T8 RtAABC 1, /C = 90°,b =
NE

o Ma= e =

2cm,tgB =

JIAEXR RETIIRMARAEM=MA
11



B(LC = 90°)

12

Mb=+/3,A=30°

(2)ce=10~/2 ,A = 45°

(3)a=2‘\/3 =4

(4)a=3+/5,b= /15

(&% 1D
LWEHEA=A®PS —BANEIA

s KR 20, REMBH=DK.

LFA=ZAEMAKRK 6 RENE
EmE#.



